BEAD GEXEF - BTT )

Sf5F 1A 1B
b 1 X % # wF A = 5 7T

B 7 B o X 6,652 13,266 6,908 6,358

X B # K 1,175 2,876 1,409 1,467

£ F # K 562 |,445 725 720

N RO K 996 2,646 1,341 1,305

Bl &£ # X 6,927 14,897 7,284 7,613

N | KR b K 1,308 3,147 1,538 1,609

ik x M # K 1,053 2,483 1,220 1,263

it & & # K 7,862 18,699 8,966 9,733

BE o M o X 6,329 16,057 8,027 8,030

& 5 32,864 75,516 37,418 38,098
Lf5F 1A 18

* X & B T 4 tH#H B | A 0 B £°3

B o Wi X BETEIATA 4,471 9,250 4,644 4,606
g F B 183 342 190 152

® B 417 826 426 400

£ L o H 731 1,305 817 488

g R H 295 513 273 240

fx HT 555 1,030 558 472

o ORX 3 6,652 13,266 6,908 6,358

N E # X = B 87 212 106 106
X & 810 1,969 963 1,006

B K EH | 40 358 | 74 | 84

£ K& % 5T 138 337 166 171

A - S 1,175 2,876 1,409 1,467

& P # X ® B H |4 357 182 175
& fF 16 39 17 22

¥ @\ H 127 401 19 210

& & H 96 228 109 119

R A& HT 112 258 143 115

K & 70 162 83 79

H X3 562 |,445 725 720

N R O X N R H] 182 415 208 207
BN R H 142 387 195 192

7 PR HT 32 77 37 40

B R ¥ 464 1,321 680 641

g & 65 179 87 q2

2 1] 1] 267 |34 133

H X3 996 2,646 1,341 1,305
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BEAD GBXF - BT T35

Sf5F 1A 1B
i K % Bq T 4% #HF B | A = B -8
Bl %&£ #% x | Bl &% H 635 1,544 750 794
F9 & %7 B 8T | 2 2 0
A i HT 162 415 200 215
m v B 725 1,637 796 841
& % 6 940 2,168 1,007 1,161
Bl % ] q8 393 |54 239
= & 1,935 3,960 1,985 1,975
EZEE | TB 223 414 206 208
B 2TB8B 430 86 | 42| 440
8 3 T8 4617 787 398 389
8 4 TB 715 1,375 703 672
MW I 30 18 12
NGB OFE S HT 429 916 453 463
FE EC & %7 E 0T 16 43 17 26
N g HT | 40 352 | 74 178
o X 6,927 14,897 7,284 7,613
IR K3t B R AR ET 1,308 3,147 1,538 1,609
#H K3 1,308 3,147 1,538 1,609
it XX R i X & ¢ € 77 233 1 20 113
& ¢ ¥ @ ] 62 152 74 78
A Bk OE T 107 254 119 135
g @\ 64 148 74 74
it # H 73 198 qq qq
N OB 31 86 44 42
® A 66 | 84 93 ql
X 8§ f 6 |7 8 q
moveE | TH ql | 84 q7 87
EmNE2TAH ql 205 93 112
ENaE3TAH 106 209 102 107
e 4 TH 135 309 148 161
maAES5TH 55 121 59 62
a6 TH 89 183 90 q3
A - G- 1,053 2,483 1,220 1,263
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EEAD (X3 - BTT 5)
Sf5F 1A 1B
H B % Bq T 4% #H HF R A = B -8
LtES®RE | EWw I TH 186 407 196 211
£EWL2TBH 198 455 210 245
£WL3TBH 177 398 205 193
£ 4 TBH 335 893 393 500
£WL5TAH 269 609 288 321
fFWL6TRH 282 685 346 339
£WL 7 T8 232 579 284 295
£WL 8 TBH 274 616 307 309
WmEITB 435 938 438 500
WmwWE2TB 131 339 162 177
W¥E3ITBHE 231 52| 269 252
WwWE 4 TB | 54 362 176 186
WES5TEBE 247 577 277 300
WwW¥E6TRBH 264 628 295 333
NS T B 28 64 33 31
IN% 2 TH 349 q07 450 457
N3 T B 182 404 209 195
NS4 T B 558 1,198 544 654
&1 TH 204 484 240 244
& 2T7TEH 230 573 276 297
&3 T7TEH 139 326 170 156
& 4T7TH 262 681 326 355
&5 T7H 188 437 192 245
BARE | TH 197 499 244 255
BRE2TH 210 577 278 299
BHREITHE 70 188 q3 a5
BARE4TH 200 454 215 239
BHRESTH 289 769 353 416
Afk& | TH 158 400 198 202
A& 2TH 171 420 210 210
A& 3TH 340 805 395 410
AfR&4TH 672 1,506 694 812
# X E 7,862 18,699 8,966 9,733
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BEAD GBXF - BT T35

Sf5F 1A 1B
H B % Bq T 4% #H HF R A = B -8
Ry MR | @yl TH 163 753 497 256
BT E2TH 162 414 210 204
By aE3TH 199 472 24 | 231
BT E4THE 277 754 361 393
BT ES5TH 336 8217 378 449
By R 6TH 322 q19 468 45|
By ETTBE 42| 1,151 594 557
W/ NI TE 285 711 331 380
W/ N2TH 227 570 276 294
W/ N3TH 361 983 477 506
W/ N4TH 297 780 384 396
W/ N5TH 281 727 363 364
wr e TH 511 1,120 563 557
WrE2TH 446 1,002 492 510
wrE3TH 354 1,013 507 506
WwWrE4TH 316 537 264 273
BRI TE 278 730 367 363
BR2TE 439 1,034 520 514
BR3TAH 307 767 383 384
BR 4 TEBE 329 611 295 316
B | TH | 136 34 102
v B 3 TH |7 46 22 24
#H K3 6,329 16,057 8,027 8,030
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(NR5TH, #E2TH)




